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QUESTION 1

Perform the following multiplications by applying the laws of exponents. Make sure that
your answers contain only positive exponents. Show all the steps in the solution.
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QUESTION 2

Perform the following divisions by applying the laws of exponents. Make sure your

answers contain only positiv{e exponents. Show all the steps in the solutions.
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Perform the following multiplications and divisions by using scientific notation and the —C\NQ

QUESTION 4

laws of exponents. Express your answers in scientific notation. Show all the steps in the el ‘(
solutions.
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QUESTION 5

For each question, determine whether or not the two expressions are equivalent by
applying the laws of exponents. Show all the steps in the solutions.
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QUESTION 6 Lt

a)

If m 1s an odd negative integer, determine whether the following statements are true
or false by replacing the variable with the number of your choice.
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If m 1s an even positive integer, determine whether the following statements are true

or false by replacing the variable with the number of your choice.
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¢) If -1<a<0, determine whether the following statements are true or false by
replacing the variable with the number of your choice.
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d) If 0 <a <1, determine whether the following statements are true or false by
replacing the variable with the number of your choice.
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QUESTION 7

For each problem given (i.e. on each of this and the next three pages), circle the algebraic
expressions that are equivalent. In the spaces provided under each expression, show how
you arrived at your conclusion.
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QUESTION 8

Perform the operations indicated in the expressions below and simplify your answers.
Show all the steps in the solutions.

a)

b)

A0 IR =473
YyZaZa - {64
UNZ & 347 - DB
Uz x 307 -3 42
Y93 + 32 =62

=]

Y5413 —J108
335 34 - {3236
3J34 243 - 63

el

20

Fooe bt T simglhed I

'n 2 sheps (aecanne §-4 Pag@aA
Yo ooy Waed Lest),

i could ‘nouce dora £ i enL
gt A J23, = b1z

Nﬁi@ — \.yu'l‘

* Ak éﬁp}
Voo Soenr Q03

6)& deac VS Are \m)gfir

WA W



c)

d)

e)

V9 ++27 |
i J———_‘
i B
-w{. 3 & 34
3
2

E -3 l
543

N iiniy TANA
# 3 \ﬁ;
.q j
b g

N[
-

A |
\_.-»

o e 4
3-\." 1 + 4/ 5

9
Jea
ot ”H?
i LS 4

3f__

3

21



QUESTION 9

Perform the operations indicated in the expressions below and simplify your answers.

Show all tiﬁ’@_psin\the solutions.
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QUESTION 10

Perform the operations indicated in the following expressions. Simplify your answers and
rationalize the denominators, if necessary. Show all the steps in the solutions.
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QUESTION 11

Perform the operations indicated in the following expressions. Simplify your answers and
rationalize the denominators, if necessary. Show all the steps in the solutions.
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QUESTION 12

For each question, determine whether or not the two expressions are equivalent. Show all
the steps in the solutions.
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QUESTION 13

For each question, determine whether or not the two expressions are equivalent by
converting them to exponential form. Show all the steps in the solutions.
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QUESTION 14

Simplify the following expressions. For this question, please convert exponent answers to
radical form. Rationalize the denominators, if necessary.
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